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(Part - 1) zZzw
(General Knowledge) (¬x¥â] i)

gÕZzgW!*�~ÆÒpÐZ�ÛiÆ�&Ð(,}�´!*nKMÃyÐ�? -1

ÎeZyZzĝ (B) ẐzgÎeZy (A)

Zqc*Zzg**+>.ç JEGc* (D) **+>.ç JEGc*ZzgZqc* (C)

Z&+zkÆ]Äb%k,}�? -2

17,000 (B) 20,000 (A)

2,000 (D) 1,700 (C)

�*~�&Ðic*�{�gC�Æfí}¾o~�? -3

Zk,Zy (B) gzk (A)

Z%M (D) ¢ (C)

¾o~zZµì? ' Zi+y0*gu ' ��'Æö»yZy -4

ZÖ (B) yz*y (A)

W7´ (D) Ei~C (C)

yz*ãWM~ãC�~�ÛZøZzgãC�~£tÅ®Z�!*nKMXì? -5

6 Zzg 12 (B) 6 Zzg 11 (A)

5 Zzg 12 (D) 5 Zzg 11 (C)

yz*y~�&ÐI!XZi+XÃgk�'Zzg¹VÑzqH�H? -6

~®~ 1958Í (B) ~�g~ 1957Í (A)

~©gW!*�~ 1959Í (D) ~��~ 1959Í (C)

�*~�&Ðic*�{[VÅaZzZg�äzZÑoÃy�ì? -7

gzk (B) Z%M (A)

u (D) yz*y (C)
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£]Æg1Å�&Ðic*�{aZzZgyz*yÅ¾gc*�&~�Cì? -8

W0+OZ6,�÷ (B) �**� (A)

f!Xw (D) @*ï**ez (C)

¾0+~Æ)g}EÙ0*�d$r¶? -9

zc*k (B) O[ (A)

X (D) gZz~ (C)

��¢az»!*ãÃyì? -10

P�&½iï GIG (B) Zgz0+²-?çGE-Zw (A)

ðñ�I (D) u~�Oy (C)

(General Urdu) (¬xZg�z ii)

�VÐ0£?¾�á²ä�&Ðic*�{K? -11

nZºW!*�~ (B) qà (A)

Z©÷_ (D) ZºZ!W!*�~ (C)

¾�á²Å"ì? " \xæt "þþþ -12

´)ZDw (B) %iZ¸(̈ (A)

ñÑ**Z1ZæxWiZ� (D) u¦Z£{V (C)

!*!*ñôÄ£¹Y@*ì? -13

ñÑ**;Z{y (B) ñÑ**�]ñ;ã (A)

�l'W!*�~ (D ñÑ**Z1ZæxWiZ� (C)

»'Ãyì? ' 3,5 ' **zw -14

�ÛZtÍgÄ7g~ (B) Ò6,*P (A)

H]g@**Bu�ág (D) �×Pg (C)
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»ëpÂHì? ' iZ@ ' -15

¤!g (B) $©ð

GG
W~ (A)

úi~ (D) 6,ÌÇg (C)

Å¦Hì? ' Z�[ ' fs~Ð -16

Z�d$ (B) W�Z[ (A)

Z�S (D) Z�!*Y (C)

¸Z°ÆÒpÐtHì? ' Ã%Å�Ñà~;B»Ñ�** ' -17

k! (B) õzg{ (A)

¢[Zi (D) 9 (C)

»Hpì? ' �ú�èZi ' -18

"Ø�ú] (B) k~�ú] (A)

Û3** (D) gz"3** (C)

»��ÂHì? 'G' -19

�CÙ (B) Wy%] (A)

ª#Ö (D) �* (C)

Ð0fs~ÐÃy�Òy�g�&ì? ' Ñ"$ ' Zzg ' 1�Ü ' ZÖp -20

�zâV�ZÖpñ"3ïJEI� (B) �zâV�ZÖpè�� (A)

è�ì ' Ñ"$ ' ñ"3ïJEIìZ#�Â ' 1�Ü 'Â (D ñ"3ïJEIì ' Ñ"$ ' è�ìZ#�Â ' 1�Ü 'Â (C)

(General English) ¬xZôm,~ (iii)

21. Select the correctly spelt word among the following:

(A) Exagerate (B) Exegerate

(C) Exaggerat (D) Exaggerate
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22. Change the following direct speech into indirect one:

Sam said to me, “I am going to Delhi.”

(A) Sam told me that he was going to Delhi. (B) Sam told me that I was going to Delhi.

(C) Sam told me that he is going to Delhi. (D) Sam told me that he were going to Delhi.

23. Change the following sentence into passive voice:

They will demolish the entire block.

(A) The entire block is being demolished. (B) The block may be demolished entirely.

(C) The entire block will have to be demolished by them

(D) The entire block will be demolished by them.

24. The person who believes the whole world as his country, is called .............

(A) Cosmopolitan (B) Internationalist

(C) Globalist (D) Metropolitan

25. Out of the four alternatives given below, choose the one which can best describe the phrase

"Something which is easily breakable".

(A) ductile (B) fragile

(C) fertile (D) futile

26. Children are the innocent souls __________ need the right guidance and role models in life.

(A) Which (B) Whom

(C) Who (D) That

27. The synonym of the word "Clandestine" is ..............

(A) Open (B) Hidden

(C) Public (D) Visible

28. Select the most appropriate meaning of the idiom underlined in the following sentence.

The process of road construction is going on by leaps and bounds.

(A) at a rapid pace (B) very gradually

(C) through unfair means (D) in parts and bits
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29. Thomas did not ______ the vegetables because he was busy.

A) bringing (B) bought

(C) brought (D) bring

30. They wanted to hear ............ end of the story.

(A) a (B) an

(C) the (D) till

(Teaching Aptitude) D+g+gDy (iv)

Zq-yÅÃyÏp!CYI�D�? -31

�g�q~ (B) VqI~ (A)

¸m (D) Äz� (C)

Zq-y»ZÍA�ÛnH�@*ì? -32

CY»Kã£g��** (B) CYÅf6�zú�** (A)

CYÅ!ò�zú�** (D) CY»ZÜ¹£g��** (C)

Zq-ñ*.çJI#{)®)Å´#ÖHì? -33

$43ðGEOqD+g+ZâY (B) CY»¬ï (A)

JÄz� (D) #{)®)~{ñÙ (C)

---- Zq-ñ*.çJID+g+ZâYz{ì� -34

jZkKÃÃu�} (B) g3Zzg�H� (A)

¯äZzgZEw~W�y� (D) CYÃ�zgÐÃWñ (C)

�ÛnÙ�Ë¤(̈DÃZq-X7Wc*Zzgz{ZLËåÆ0*k�HXZ+ßg]~ZkåÃXXXXXXXXX -35

t�**e34/õ X
G

J�Zk§båÆy7YD�X (B) aÆzZ­+Ðg�q�ÆZk»Xi�**e34/õ X
G

J
X (A)

o�&æ�Æfg)aÅj,Z�ÛZð�**e34/õ X
G

J
X (D) ttg{�be34/õ X

G

J�z{6,±Ðg�q�}X (C)
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ZK«¯k~Z¤/CYåÐ¬gs7�äÅZi�,ÂXXXXXXXX -36

yZL!*g}~¿UZ7CñX (B) yZ7¯kÆ�YÃ¾X (A)

ZyÅZk)¢zg~Ô6,Z7eZ�X (D) ZyÅpZéÃÃZ0+Zi�Æ7,J**Ñzq�}X (C)

#{)®)~Äz��ì�äÆfyÃe34/õ X
G

J�z{XXXXXXXXX -37

CYÐñÐ7WñX (B) CYÃZyÅ%èÆ_.�ä�}X (A)

CYÐ3,òÐ7WñX (D) CYÃPÎZÑ]i�äÃ�}X (C)

Zq-yÅwÐW\Å¯k~Z¤/PCYpU#{)®)»Ä�y%Z[�äÅÃÒ�,ÂW\XXXXXXXXXX -38

#{)®)ÐZ7!*CÙïw�,Ð (B) 6,±ÐZ7ZjwÐï%Å\gl�,Ð (A)

p�ç¤»ñµ�}�ZyÆ',@*îÅZ&b�,Ð (D ZLZ(gZ]»ZEw�}ZyÅZ&b�,Ð (C)

Z¤/W\Å)®)~¬x�VÆ�BÃðy~mzg¤(̈DÌ�ÂW\XXXXXXXXXXXXX -39

Zk6,ÃðZ�°Âz7�,ÐYV�!*¹¯k»vy�ÇX (A)

#{)®)~ZkÆ�B^g�~Ð7WNÐX (B)

ÎvÐ�ZkÆ�~�t�ìÂ~H�Y�VX (C)

Zk¤(̈DÃZzw�~´NÐZzgZkÆf�ª(jgëgÐ7,JNÐX (D)

�Ûn²-C4/õ GEGJ�W\ÆZq-å)£g~i!*y~W�gì�ZzgW\z;VÐ¦/gì�ÂZ+ßg]~W\XXXXXXXXXXX -40

ZyÐv[§jÐCNÐ�z{Z+i!*y»ZEw:�,X (A)

ËðI�,Ðc*ZCgZ3$+wBÐX (B)

Z7@Ze$�,Ð�z{ZKi!*y»ìwgOX (C)

W�,ÐZzgZyÆ&Å0*ÀÏ»zZ3�,ÐX (D)

(Mental Ability) f6&¢A (v)

�Ûn²-C4/õ GEGJ�gæÔg°Æ¸ðO»gCìÂg°gæ»XXXXXXìX -41

� (B) ¸ð (A)

zZ­ (D) R (C)
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�g`fs)zZ]~ÃyÏ�zZ°Z�Æ!*bn�áÐ)zZ]�g�&�YñÏ? -42

15/5+7-2x3=2

3 Zzg 7 (B) 5 Zzg 7 (A)

5 Zzg 3 (D 5 Zzg 2 (C)

]~]HÃ,ð�}Ï²Z�ZY~ 7 ³¢a°�»Z��HYñÂz{»g 4 Ë»gÅgëg~Z¤/CÙZq-]Æ� -43

³¢a°��? 40 ZkÅgëg
³¢a 364 (B) ³¢a 392 (A)

³¢a 340 (D ³¢a 424 (C)

�g`fse~Z�°�ÃyÏ�Ï? -44

1, 6, 17, 36, 65, 106, ......

167 (B) 161 (A)

126 (D 120 (C)

25 �¶K**]qÝ�ñXZ¤/ZÐZJy~ù¦ 50 ÎZÑ]iKXZzgCÙÎZw~ZÐ 10 ËZJy~Zq-¤(̈Dä -45

�¶K**]qÝ�ñ�VZzgÓxÎZÑ]Æ)z~¶K**]�VÂtC��ZJy~ÀÄÎZÑ]?̧

10 (B) 5 (A)

20 (D 15 (C)

Ã÷�YñÇ? WEAPON �Y@*ìÂZÏi!*y~ ODZBD Ã   PEACE Z¤/Ëi!*y~ -46

VDZONM (B) XFBQPO (A)

VDZQPO (D XFBONM (C)

¯Å7X�Ï? 25 gz9�Â 180 ¯Å7 15 Z¤/ -47

250 (B) 225 (A)

325 (D 300 (C)
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e¤/~{~ÅÎðÅ�~�OìÔZkÆ�z{{~ÅÎðÆ',@� 135 Zq-¿�[Å�~ì�Æ9ZìÔZ[z{ -48

e¤/~�OìÂCØ�Z[z{¾�ì�Æ9Zì?  225 ~
�[ (B) æt (A)

ÑwXæt (D �[Xæt (C)

Å9Z{X�Ï? B gz9�Â 66000 ìZ¤/ÐVÅ]9Z{  1:4:7 Å9Z{»Ú�&  C Zzg  A, B &¿ -49

22000 (B) 5500 (A)

38500 (D 33000 (C)

�g`fs~Zq-Òy�c*�HìÔTÐP}òZ~.ò��X -50

ÓxÕ@V�ÔÓxV!c*V�ÔÓx!c*V7�}�X Òy:
ÓxÕ@!c*V�X (i ³:
ÓxV7�}�X (ii ³:

�g�&ìX (i )Z³(Üs³
�g�&ìX (ii )[(Üs³

�g�&ìX (ii �g�&ìc*³ (i )`(c*Â³
�g�&ìX (ii �g�&ìZzg:�³ (i )�(:Â³

�zâV��g�&�X (ii Zzg³ (i )b(³
tCØ�}òÐ0Ãy�Òy�g�&ì?

)[( (B) )Z³( (A)

)b( (D) )�( (C)
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(Part -2 ) z�zx
(English) Z�

51) In English language, LSRW stands for

(A)  Lecture of Subjects Related to Women's Writing

(B) Listening, Speaking, Reading and Writing

(C) Lecture, Speaker, Reader and Writer

d) None of the Above

52) The Term TESL stands for

(A) Text of English in Second Language

(B)  Training of English in Second Language

(C)Teaching of English as a Second Language

(D) None of the Above

53) Which of the following is not a branch of Linguistics?

(A)  Semantics (B) Morphology

(C) Anthropology (D) Phonology

54) Number of sounds in the English language is

(A) 44 (B) 24

(C) 26 (D) 40

55) The study of the science of sounds is called

(A) Phonology (B) Phonetics

(C)Phonemes (D) None of the above

56) Scanning is a sub-skill of

(A) Reading (B) Writing

(C) Listening (D) Speaking

57) The primary function of language is

(A) Writing (B) Speaking

(C) Communication (D) None of the above
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58) Which of the following combinations works in language learning?

(A) Reading leads to improve better writing

(B) Listening leads to improve better speaking

(C) Both A & B

(D) None of the above

59) Which of the following does not pair in language learning?

(A) Hearing-listening (B) Uttering-speaking

(C)Both A & B (D) None of the above

60) Which of the following is not from Parts of Speech?

(A) Conjunction (B) Preposition

(C) Interjection (D) Indirect speech

61) The process of communication consists of

(A) Sender (B) Medium

(C) Receiver (D) All of the above

62)  Choose the word that is not plural, from the given options

(A) Women (B) Mice

(C) Laptop (D) None of the above

63) Choose the comparative degree of 'Fast'

(A) Fastly (B) Faster

(C) Fastest (D) None of the above

64) Choose the noun form of 'Pure'

(A) Purity (B) Pureness

(C) Purify (D) None of the above

65) Which of the following is not "Article'?

(A) A (B) An

(C) The (D) Them
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66) Past perfect uses the following form of Verb

(A) First form of verb (B) Second form of verb

(C) Third form of verb (D) None of the above

67) Which of the following characterizes the Noun?

(A) Preposition (B) Adverb

(C) Verb (D) Adjective

68) Number of Parts of speech in English language

(A) 10 (B) 8

(C) 9 (D) 7

69) Which of the following is not an example of Modals in the English language?

(A) Could (B) Ought

(C) Might (D) Sight

70) Whether Verb is active or passive is defined by

(A) Preposition (B) Voice

(C) Interjection (D) None of the above

71) A word having a similar meaning is called

(A) Homonym (B) Synonym

(C) Antonym (D) None of the above

72) I did not ………. to the school due to fever.

(A) Gone (B) Went

(C) Go (D) None of the above

73) Would you ………………… to go with me to the market?

(A) Liked (B) Like

(C) Liken (D) None of the above

74) You are going to the market, Question Tag option from the below-given options

(A) Aren't You? (B) Would you?

(C) Weren't you? (D) None of the above
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75) She jumped …………………… the river with her brother

(A) Onto (B) Into

(C) In (D) None of the above

76) Everybody ……………… going to the market during festivals

(A) Is (B) Are

(C) Were (D) None of the above

77) He has been studying in this school ……………………… 2018.

(A) For (B) Since

(C) About (D) None of the above

78) Choose the correctly spelt word from the given options

(A) Pseudo (B) Seudo

(C) Sudeo (D) All of the above

79) Change the sentence into passive voice "Abdul finished the homework in time"

(A) Abdul has finished his homework in the morning

(B) The homework was finished by Abdul in time

(C) The homework had been finished by Abdul in time

(D) None of the above

80) Change the sentence into indirect form " I have eaten fruits in the morning"

(A) He said that he had eaten fruits in the morning

(B) She said that she had eaten fruits in the morning

(C) Both A & B

(D) None of the above

81) Choose the odd word

(A) Smart (B) Beauty

(C) Handsome (D) Dashing

82) Choose the correctly spelt word

(A) Diahorria (B) Diahhorea

(C) Diarrhoea (D) Diaria
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83) Who is the Nobel Prize winner of literature in 2023?

(A) Annie Ernaux (B) Jon Fosse

(C) Abdulrazak Gurnah (D) None of the above

84) Who is the Booker Prize winner for English literature in 2023?

(A) Paul Lynch  (B) Jon Fosse

 (C) Abdulrazak Gurnah (D) None of the above

85) The Elizabethan age in English literature is also identified as

(A) The age of Shakespeare (B) The age of Milton

(C) The age of Chaucer (D) None of the above

86) Who is considered the father of Indian English literature?

(A) Mulkraj Anand (B) Chetan Bhagat

(C) Bikram Seth (D) None of the above

87) Fiction and non-fiction are types of

(A) Poetry (B) Prose

(C) Both a & b (D) None of the above

88) Who wrote the novel "The Suitable Boy"?

(A) M R Anand (B) Vikram Seth

(C) V S Naipaul (D) None of the above

89) Which of the following is called romantic period in English literature?

(A) 1785-1832 (B) 1833-1912

(C) 1857-1947 (D) None of the above

90) The Famous English writer Rudyard Kipling was born in

(A) Bombay (B) Delhi

(C) Dehradun (D) Kolkata

91) The author of the book "The God of Small Things" is

(A) Renu Nanda (B) Chetan Bhagat

(C) Kavita Pillai (D) None of the above

B.Ed (English)/E.T/ 2024
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92) Nobel Laureate V S Naipaul belongs to which country

(A) Fiji (B) Trinidad

(C) India (D) England

93) Which of the following does not belong to literary genres for Poetry ?

(A) Epic (B) Narrative

(C) Dramatic (D) Autobiography

94) Which of the following does not belong to literary genres for Prose?

(A) Horror (B) Biography

(C) Fantasy (D) Lyric

95) Choose the meaning of the phrase "So far so Good" from the given options

(A) Things are moving very speedily (B) Things are moving very slow so far

(C) Things are going well till now (D) None of the above

96) The book "Midnight Children" is written by

(A) Salman Rushdie (B) Vikram Seth

(C) Muklraj Anand (D) None of the above

97)  Phrase "To Break the Ice" has meaning from the given options

(A) To move away from difficult situation (B) To end abruptly

(C) To relax from the tense situation (D) None of the above

98) Phrase "Like a Cakewalk" has meaning from the given options

(A) Easy Task (B) Very smooth surface to walk on

(C) Very active (D) None of the above

99) Which of the following does not belong to the classification of History of English literature?

(A) Neo-Classical (B) Romantic

(C) Modernist (D) Liberalization

100) Which of the following does not belong to Shakespeare's Writings?

(A) Hamlet (B) Othello

(C) Macbeth (D) Paradise Lost
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